
(vonhaus) 

2X3M 

POLYTUNNEL 

GREENHOUSE 

Setup Instructions 
Product No. 2502067 





Components Fr: Composants / De: Komponenten / Es: Componentes / It: Componenti 

1 � 8pcs 
A1 -<I I I 1pc d"I 

A2 � 1pc I 

2 
� 

3pcs 
A3 Cl 1pc 181 

A4 Cl ol 1pc 

2A 
� 

1pcs 
A5 Cl () 1pc 

A6 Cl 13 1pc 

3 Iii UII 6pcs A? Cl 13 2pcs 

3A Iii : Ill 2pcs 

4 0 0 5pcs (f �81 1pc 

5 10pcs � '°' 

6 v<I IBI 1pc 
82 � Jj 1pc 

6A v<I 0 101 1pc 84 101 51 2pcs 

7 v<I ol 1pc 85 IBI 1211 2pcs 

?A v<I 0 01 1pc 0 1 M6x 60 20pcs 

8 Ell I II 2pcs O==i M6x35 16pcs 

9 Ell II 2pcs (l::::::::i M6x30 4pcs 

e M6 nut 40pcs 

vQ 1pc 

� 
1pc 

� 
1pc 

□ 1pc

(1) 10pcs

3 vonhaus 

4pcs

4pcs



2A

2

2

2



















Assembly Fr: Assemblee / De: Versammlung / Es: Asamblea / It: Assemblea 

1. Once the greenhouse frame is fully assem­
bled, double-check and tighten all bolts
completely.

2. Next, with two people working together,
carefully slide the cover over the built frame,
making sure it stays even on all sides.

13 vonhaus 

3. Secure the cover by attaching all ties found
on the inside of the cover to the frame, work-
ing systematically from one end to the other.

4. Attach guy ropes through each hook on four
corners of the polytunnel. Then use pegs pro-
vided to sink guy ropes into the ground and
secure the structure.


























